PREVIEW QUESTION BANK(Dual)

Module Name : Junior Engineer Electrical
Exam Date : 27-Mar-2021 Batch : 12:30-14:30

Sr. || Client Question

. . Negative
No. D Question Body and Alternatives Marks

Marks
Objective Question

1 1 What is the full form of 'AIIB', a new multilateral financial institution? 1.0 0.25

! Asean Infrastructure Investment Bank
2 Asian Infrastructure Investment Bank — (Correct Alternative)

f% Asian Infrastructure Institutional Bank

A4 African Infrastructure Investment Bank

Objective Question

22 When did 'French Revolution' begin? 1.0 0.25

Al 110

A2 1850

.A3 1789 — (Correct Alternative)

A% 1860

Objective Question

33 In tribal polity, the officer who enjoyed authority over a large land or pasture ground is called . 1.0 1025

! Vrajapati — (Correct Alternative)

A

2 Sukthams

f% Bhashyams

64 Upanishad

Objective Question

4 4 Which of the following productions refers to 'Pink Revolution' in Indian Economy? 1.0 10.25

! Onion — (Correct Alternative)

{\2 Wool

A3 Milk




A4 Agriculture

Objective Question

505 Which of the following taxes does not fall under 'Direct Tax'? 1.0 025

I Expenditure Tax

62 Income Tax

_A3 Goods and Services Tax — (Correct Alternative)

A4 Wealth tax

Objective Question

6 6 The Similipal National Park is located in which state? 1.0 /0.25

I Gujarat

62 West Bengal

_A3 Odisha — (Correct Alternative)

‘A4 Maharashtra

Objective Question

77 Who among the following has won the elections and became the Prime Minister of Malta? 1.0 10.25

‘Al Chris Fearne

62 Joseph Muscat

.A3 Robert Abela — (Correct Alternative)

‘A4 Tan Borg

Objective Question

8§ 8 Which state in India shares Maritime International border with Sri Lanka? 1.0 10.25
1 .
Gujarat
A2

Tamil Nadu — (Correct Alternative)

63 Kerala

.A4 Andhra Pradesh




Objective Question

9 9 Who has won the Sir Garfield Sobers Trophy for Best Cricketer of the Year in ICC annual awards 2019? 1.0 10.25
David Warner

Al

{\2 Joe Root

A3

Jos Buttler

.A4 Ben Stokes — (Correct Alternative)

Objective Question
10110 Recently, who among the following cricketers won "ICC Spirit of Cricket Award of the Decade"? 1.0 10.25
Al

Kane Williamson

.A2 Mahendra Singh Dhoni — (Correct Alternative)

A3 Virat Kohli

A% Sieve Smith

Objective Question

11 Fill in the blank with the appropriate article a, an, or the, or select the option ‘No article’ if no article is needed. 1.0 10.25
Rubin has terrible leg pain.

_Al a — (Correct Alternative)

A2
7 an
A3

the

54 No article

Objective Question

12112 Fill in the blank with the appropriate article a, an, or the, or select the option ‘No article’ if no article is needed. 1.0 10.25
I need English book.
Al
o a

_A2 an — (Correct Alternative)

f% the

64 No article

Objective Question

13 13 Fill in the blanks with suitable Preposition from the given alternatives. 1.0 10.25
Several cities have dramatically improved their air quality recent years.




Al on

_A2 in — (Correct Alternative)

Objective Question

14

14

A3
~ 7 along
A4
. except
Fill in the blanks with suitable Preposition from the given alternatives. 1.0
The river Ganges flows Uttar Pradesh.
against

2 through — (Correct Alternative)
A3

owing to

as far as

Case Study from Question No. 16 to Question No. 18

15

16

17

15

16

17

Read the following passage and answer the questions that follow. 3.0
The Amazon rainforest, the largest of its kind in the world, is ablaze, with over 9,500 distinct fires burning through its main basin since
August 15. Overall, Brazil has seen more than 76,000 fires ravage the Amazon in 2019, of which around 10,000 have been started in the
past few weeks, mainly by loggers and farmers seeking, as they do during the summer months, to clear vast tracts for agricultural or
industrial use. However, this annual exercise of planned deforestation appears to have crossed a tipping point this year. There has been an
increase of at least 80% in the number of recorded fires compared to the same period in 2018, according to Brazil’s National Institute for
Space Research (INPE). This week, images of darkening skies above Sao Paulo, more than 2,700 km away from the fires, went viral. The
number and intensity of the fires are closely linked to the rate of deforestation. Some reports estimate that in July 2019, the Amazon
shrunk by 1,345 sq km, up 39% from the same month last year, and a historical record. The flames are not confined just to Brazil either. In
neighbouring Bolivia, deadly blazes are devastating forests and farmlands, so much so, that its President, Evo Morales, has put his re-
election campaign on hold over the weekend, and, unlike his Brazilian counterpart Jair Bolsonaro, was quick to welcome foreign aid to
help fight the fires.

The distinctly political undertones of the crisis in Brazil sets it apart. Mr. Bolsonaro’s critics say that his economic and environmental
policies have virtually set the stage for intensifying degradation of the Amazon’s rich biodiversity. They argue that since he came to power
this year, he has chipped away at the protections that the rainforest enjoyed, including by weakening the environment ministry when he
made Ricardo Salles, found guilty of administrative improprieties for altering a map to benefit mining companies, the Environment
Minister; by driving away Norway and Germany, principal donors who have backed protections for the Amazon; by sacking the head
INPE over absurd allegations that he was disclosing how rapidly Amazon deforestation was happening; and by attacking both
environmental charities, alleging without proof that they started fires to serve certain foreign interests, and indigenous Amazon dwellers.
Under intense global pressure, including from the ongoing G-7 meetings of world leaders, Mr. Bolsonaro, a right-wing climate-change
sceptic, appears to have relented to an extent, and has authorised 44,000 military troops to help with the firefighting efforts. Even if they
succeed, and the Bolsonaro administration ultimately bends to global outrage over the destruction of a critical global ecosystem, the
discernible shift in Brazilian public institutions responsible for guarding the future of the Amazon rainforest is a worrying sign of worse
things to come.

Which is closely linked to the increase in intensity and number of fires? 1.0

! Cooking inside the forest

A2 L . .
7 Exponential increase in population

.A3 Rate of deforestation — (Correct Alternative)

A4 All the above

Which one of the following most accurately summarizes the main point of the passage? 1.0

! Bolivia is helping more to control the situation

0.25

0.75

0.25

0.25




52 Brazil's Agriculture will be improved

A3 The fires can be viewed from some other major cities

.A4 Increasing Number of Fires are major threat to Amazon's rich Biodiversity — (Correct Alternative)
18 18 What is the contextual meaning of the highlighted word 'Sacking'? 1.0 0.25
1
Engage

_A2 Dismiss — (Correct Alternative)

Reserve

A4
~ Immerse

Objective Question

19719 Choose the word which best expresses the similar meaning of the given word " EQUIVOCATION ". 1.0 10.25

fM Certainty

_A2 Ambiguity — (Correct Alternative)
3 Honesty

fA4 Uprightness

Objective Question

20120 Find the suitable antonym for the given word " SERVILE " 1.0 10.25

fM Humble

.A2 Aggressive — (Correct Alternative)

‘A3 Abject

A4 Passive

Objective Question

21 21 Choose the one which can be substituted for the given word/sentence. 1.0 1025
An animal that lives in a group.

Panacea
A2 .
~ " Horizon

63 Oculist




_A4 Gregarious — (Correct Alternative)

Objective Question

22 122
i -1 1
ifA=|-1 & —1],the eigen values of 4 is
1 -1 3
Alg2
A% 24,4
A3 a3

_A4 2, 3, 6 — (Correct Alternative)

Objective Question

23 |23
The radius of curvature of the curve vy = e* atthe point (0,1} is

Al
oz

“AZ 4\@

A3 23
g (Correct Alternative)

A4 32

Objective Question

24 24 So e

du
Ifu—f(x—y,y—z,z—x),then£+a+g—

Al
A2

.A3 0 — (Correct Alternative)

64 2u

Objective Question

25 |25 »
The value of /(0) is

Al

A2

A
. 3w — (Correct Alternative)

1.0 10.25
1.0 10.25
1.0 0.25
1.0 0.25




fA4 -

Objective Question

26 26 ) 1.0 0.25
The complementary function of x°y" + day" + 2y = e”is

Al 4 &
x  xf

A2 B
. A, + _2

XX .

— (Correct Alternative)

A3 B
. — 4 —

x  xf
A4 B

Objective Question
27 27 1.0 10.25

The value of fc ﬁdz, where Cis the circle |z] = 1is equal to
Al
A2
.A3 0 — (Correct Alternative)

A4

Objective Question
28 128 1.0 10.25
The value of L{tcoshat} is

Al s? +a?
(s2 + a2)?
.AZ s? +a®
2 4232
=) — (Correct Alternative)
A3 2 2
) 5° —a®
(s2 = a2)2
: (5% + a?)?

Objective Question

29 29 1.0 0.25
The constant term in the Fourier series of the function fix) =k 0 <x < 2mis

Al o

A2 4k

A3 k- (Correct Alternative)




A4

Objective Question

30 |30 i
The Fourier sine transform of; is

Al [h—r

)

A2 F

N2 (Correct Alternative)

A3 =

)

A4 T

5]

Objective Question

31 31
The partial differential equation obtained by eliminating the arbitrary constants fromz = ax + by is

fM Z=qx—py
‘AZ Z=px—qy
.A3 FERRERY (Correct Alternative)
54 z=qx+py

Objective Question

32 32 Consider the following statements and choose the correct option.

Statement 1: The fuse rating is expressed in terms of current.
Statement 2: The fuse wire in DC circuit is inserted in negative circuit only.

fM Both Statement 1 and Statement 2 are TRUE

AZ Both Statement 1 and Statement 2 are FALSE

3 Statement 1 is TRUE and Statement 2 is FALSE — (Correct Alternative)

54 Statement 1 is FALSE and Statement 2 is TRUE

Objective Question

33 133 Statement 1: The sphere-gap will protect the transmission lines and transformers against transient overvaoltage wave of any duration.

Statement 2: Sphere gaps are used to measure AC voltage only.

fM Both Statement 1 and Statement 2 are TRUE

{\2 Both Statement 1 and Statement 2 are FALSE

1.0 10.25
1.0 10.25
1.0 0.25

1.0 10.25




.A3 Statement 1 is TRUE and Statement 2 is FALSE — (Correct Alternative)

A

4 Statement 1 is FALSE and Statement 2 is TRUE

Objective Question

34 34 Pre-insertion resistor with circuit breaker is used to 1.0 0.25

decrease the peak of restriking voltage and the rate of rise of recovery voltage — (Correct Alternative)
increase the peak of restriking voltage and the rate of rise of recovery voltage
fA decrease the peak of restriking voltage and increase the rate of rise of recovery voltage

increase the peak of restriking voltage and decrease the rate of rise of recovery voltage

Objective Question

35 135 A circuit breaker is rated at 1500 amps, 2000 MVA, 33 kV, 3 sec, 3- phase, oil circuit breaker. Determine the breaking current and making 1.0 10.25

current.

fM 60.60 kA and 89.25 kA

.A2 35 kA and 89.25 kA — (Correct Alternative)

A3 49.5 KA and 85.7 kA

A% 58 5KkA and 85.7 KA

Objective Question

36 36 In a short circuit test on a circuit breaker, the following readings were obtained on a single frequency transient: 1.0 10.25

(i) Time to reach the peak restriking voltage =50 ps;
(ii) the peak restriking voltage = 200 kV.

Determine the average rate of rise of recovery voltage (RRRV) and the frequency of oscillation.

Al S 1 Vius, 10 kHz

A

2 2 kV/ ps, 20 kHz

_A3 4 kV/ ps, 10 kHz — (Correct Alternative)

A% 4 KVius, 20 kHz

Objective Question

37 37 The self GMD of the conductor with three strands, each of radius ‘r’ and touching each other is 1.0 10.25

.A] 1.46r — (Correct Alternative)

A2 5 34y

A3 07788




At 467

Objective Question

38 38 A 3-phase line is designed with an equilateral spacing of 16 m. It is decided to build the line with horizontal spacing. The conductors are | 1.0 0.25

transposed. The spacing between the adjacent conductors is found to be “x” m to obtain the same inductance as in the original design.
What is the value of ‘x’?

{\1 x=103m

A2 112m

.A3 x =12.7 m — (Correct Alternative)

At 135m

Objective Question
39 139 Calculate the capacitance of a conductor per phase of a three-phase 400 km long line, with the conductors spaced at the corners of an 1.0 10.25

equilateral triangle of side 4 m and the diameter of each conductor being 2.5 cm.

Al 83504

A2 5832 F

_A3 3.852 pF — (Correct Alternative)

A% 835 4F

Objective Question

4040 Determine the capacitance per km per phase for the conductor arrangement of three-phase double-circuit transposed line shown in Fig. 1.0 10.25

The radius of each conductor is 't' m.

Al 1

= 1k} ;"I'II'T Fﬂ’ﬂ
[ vsD(mY
3Iny2""—| —
1 rin
A2 1
. = — yF ko
s D(mY Jl
Oln< 2 I 1
r | ”) J
L — (Correct Alternative)
A3 1
) C= JF [ km

A4




1

31:1{2”‘0r n fsl

rm)

C= HF [ kn

Objective Question
41 41 Each strand, in a 19-strand conductor, is of equal diameter and has an inductance of L H/m. The total inductance of the stranded conductor 1.0 0.25

is represented by

Al jor,

A

2 L/81

.A3 L/19 — (Correct Alternative)

A% 1 361

Objective Question

42 42 Find the ratio of GMR to overall conductor radius of a stranded conductor having seven identical strands each of radius r as shown in Fig. 1.0 0.25

0.7257 — (Correct Alternative)

Al

A2 04257
A3

1.3127

A% o177

Objective Question

43 43 Which of the following range of wind speed are suitable to operate wind turbines? 1.0 10.25
fM 30-55m/s
5\2 20 —-45 m/s
‘A3 10 — 35 m/s
A4

. 5-25m/s — (Correct Alternative)

Objective Question
44 44 A photocell has a short circuit current of 25 mA, an open circuit voltage of 0.8 V and a maximum power output of 15 mW. What is its fill 1.0 0.25

factor?

Al 909,

A2 85%




A3 80%

A4

75% — (Correct Alternative)

Objective Question

45 45 The SVC and STATCOM are devices. 1.0 0.25

.Al Shunt connected — (Correct Alternative)

A2 .
7 Series connected

A3 . . .
~~ Combined series-series connected

A4 Combined serie-shunt connected

Objective Question

46 46 The Thevenin's equivalent voltage and reactance of a power system with respect to a node at which the static VAR compensator (SVC)is 1.0 025

placed are 0.99 pu and 0.6 pu respectively. The SVC reference voltage and slope reactance are 1.04 pu and 0.03 pu respectively. Calculate
the current injected by the SVC.

U gy = - 0.0479 pu
2 Igyc = - 0.0794 pu — (Correct Alternative)
A3 gy =0.0834 pu

4 Igve =-0.0635 pu

Objective Question

47 47 As per CERC regulations, the time block of ................. each for which special energy meters record values of specified electrical 1.0 10.25
parameters with first time block starting at 00.00 Hrs.

fM 5 minutes

62 10 minutes

_A3 15 minutes — (Correct Alternative)

A4 30 minutes

Objective Question

48 48 A 100 MVA, 11 kV, 3-phase, star connected generator has X = 35%, X, =30%, X, = 15% and feeds a line of X| = X, = 5% and X = 1.0 10.25

10%. The fault current for a 3-phase fault at line end is

.Al 13.12 kA — (Correct Alternative)

A2 0476 kA




A3 3.636 kA

54 10.49 kA
Objective Question
49 149 A 3-phase 100 MVA, 10 kV alternator has 5% reactance. Find the external reactance per phase to be connected in series with the alternator 1.0 0.25

so that three-phase short-circuit current does not exceed eight times the full load current.

fM 7.5 Q/phase

{\2 0.75 Q/phase

.A3 0.075 Q/phase — (Correct Alternative)

A4 0.0075 Q/phase

Objective Question

50150 Consider a fully transposed 3-phase transmission line, having self reactance of each line as X and mutual reactance between the lines as 1.0 10.25
X as shown in Fig. The positive and negative sequence impedance of the line respectively are

R .—)—f{j—{fm—\ - R
7 e

¥ .H—‘\ ' A WOV -

. *s

iy

B e—>——— (00 ® ©
Ly My

.Al Zl=..f-[.X.-:_Xlr.']

E.ﬂd. Z.'.' :.-FEX.': _X"If.]
— (Correct Alternative)

A2 21=J:LX:+X'W/‘I

and Z, = j(X.+X,)
A3
. L =X =3x.)

and Z, = jX. -X,)

Ad
. Z=jX,+3X,)
and Z, = (X +X,)

Objective Question

S1sl The positive, negative and zero sequence impedances of a 200 MVA, three-phase, 15 kV, star-grounded, 50 Hz generator are j0.15 pu, j0.1 /1.0 025
pu and j0.02 pu respectively on the machine rating base. The machine is unloaded and working at the rated terminal voltage. If the
grounding impedance of the generator is j0.01 pu, then the magnitude of fault current for a b-phase to ground fault is

_Al 76.98 kA — (Correct Alternative)

A2 g2 48 kA

A3 g5531A

A% g 82 kA

Objective Question




52

52

Which of the following Fig. represent the connection of sequence networks for one conductor open?

Al

A2

Yadt
Fo  oF

la1]

_,i | I
al

.l'd] o

'31 1

A3

Vadt
Fe F

Vad2
o oF

2= la1

Ad

— (Correct Alternative)

1.0

0.25




53 |53

54 |54

55 155

Fﬂ [ ] F

I
4

Objective Question

A star-connected balanced load draws a current of 25A per phase when connected to a 440V supply. Determine the 3-phase apparent 1.0 10.25
power.

Al g1y

A2 11 kvA
A3

15.55 kVA

.A4 19.05 kVA — (Correct Alternative)

Objective Question

In a balanced delta-connected system, the magnitude of line current is ............ times the phase current and it lags the phase current by 1.0 10.25

A2
73,600

A
M 3300

— (Correct Alternative)

jM A3 60"

Objective Question

1.0 0.25
A symmetrical three-phase three-wire 440 Y supplies to a star-connecied load. The impedances in each branch

of astar-connectedload are Zp = (2 +j3) Q, Iy = (1 —-j2]) Q and Z; = (3 +j4] Q. Find its equivalent deltfa-connected
load using star-delta fransformation.

f“ ZRY =(5.23 —]0.85) Q, ZYB = (3.8—0.4) Qand ZBR = (-3 +]8) O

A2 7Ry =(3.8-j0.4) O, ZYB = (5.23 — j0.85) Q and ZBR = (-3 +8) Q
. e { A S (3+8) — (Correct Alternative)

53 ZRY = (5.23 —j0.85) 0, ZYB = (-3 +j8) Dand ZBR = (3.8 —j0.4) O




A4 ZRY=(-3+8) Q, ZYB=(3.8—j0.4) Q and ZBR = (5.23 —j0.85) O

Objective Question

56 56 In two wattmeter method of power measurement, one wattmeter reading is negative when power factor angle is than . L0 10.25

! lesser, 60 degree
52 lesser, 45 degree
3 greater, 60 degree — (Correct Alternative)

4 greater, 45 degree

Objective Question

57 57 In two-wattmeter method, the readings of wattmeter for a balanced load are, P1 = 800 W, P2 = 600W. What is the reactive power of the 1.0 025
load?

.A] 346 VAR — (Correct Alternative)

A2 600 VAR

A3 692 VAR

A% 1200 VAR

Objective Question

58 58 A 3 phase, 30 kW Induction Motor has a power factor of 0.8 lagging. What size of Capacitor in kVAR is required to improve the power 1.0 10.25

factor to 0.95 with constant supply voltage?

Al s 1var

A2 9 5LVAR

.A3 13 kVAR — (Correct Alternative)

A% 25 VAR

Objective Question

59 159 1.0 0.25
A current-commutated chopper is fed from a DC source of 220 V. Its commutating components are L = 25

pH and C = 55 pF. Ifload current of 200 A is assumed constant during the commutation process, the peak
commutating current ‘I ;" is

Al 29665 A

_A2 326.31 A — (Correct Alternative)
A3

419.52 A

A% 46147 A




Objective Question

T : ; ; 2 1. 2
60 160 A fransmission line has areactance of 1 puis operating at V.=V, =1 pu. The generator is connecred at source end 0 |02

which is delivering 1 pu of active power and the transmission line is compensated with a series capacitance of 0.5
pu. Find the load angle with series capacitance compensations

.Al 30 degree — (Correct Alternative)

{\2 45 degree

‘A3 60 degree

A4 90 degree

Objective Question

61 6l The per unit impedance of the circuit element is j0.25. If the base kV is halved and base MVA is doubled, then the new value of the per 1.0 10.25

unit impedance of the circuit element will be

Al dos

A2 40125

.A3 j2 — (Correct Alternative)

A% 4003125

Objective Question
62 62 Two generators are connected in parallel whose ratings are as follows: 1.0 025
G1: 100 MVA, 12 kV, Xgl =0.15 pu
G2: 200 MVA, 12 kV, Xg2 = 0.25 pu

Draw the per unit reactance diagram on a base of 500 MVA and 15 kV.

Al — . .
: T
jo.01%2 jo.064
Eg‘l EgQ
|
A2 .
j0.48 jo.4
Egl Eg?
A3 »
j0.0448 jo.1562
Egi Eg2

— (Correct Alternative)




A4 »
j1.1718 j0.97465
Egl Eg2

Objective Question

63 63 The bus impedance matrix for the simple two bus system shown in Fig. is 1.0 10.25

O WO

2 (J]HH:& 2 (1}‘]11]:-

zero reference

Al

Z, =

([AY

||

wn| =N Wi

A2

L=

s

h| WO W

|| W

A3

Zi =

(IA

| wan | O

h| v W

e
F N
|
|

bus

||
|

| & Oy

— (Correct Alternative)

Objective Question

64 64 Consider the following statements and choose the correct option. 1.0 10.25
Statement 1: The transient stability limit of a power system can be increased by series capacitance compensation.
Statement 2: The critical clearing time of a fault in power system is related to steady-state stability limit.

fM Both Statement 1 and Statement 2 are TRUE

62 Both Statement 1 and Statement 2 are FALSE

A3

Statement 1 is TRUE and Statement 2 is FALSE — (Correct Alternative)

A

4 Statement 1 is FALSE and Statement 2 is TRUE

Objective Question




65 65 The distribution system configuration shown in Fig. is 1.0 10.25

==

an

%%;AM:L

B
¢ 1 4 "L ¢ *Pm-ctor

‘Al Primary Selective

Az Secondary Selective
A3 Grid network

_A4 Spot network — (Correct Alternative)

Objective Question

66 66 , ; : : R 1.0 0.25
The equivalent Thevenins bus admittance matrix of a two-bus system with identical
. [-j30 +j10]
generators on both buses is +j10 - 30

The generator reactance and interconnecting line reactance will be respectively
Al 46,1 and j0.05

.A2 j0.05 and j0.1 — (Correct Alternative)

A3 40,05 and -j0.1

A% 40,1 and -j0.05

Objective Question

67 67 A 15-bus power system consists of five generator buses indexed as G1, G2, G3, G4, G5 and ten load buses indexed as L1, L2, L3, L4, L5, 1.0 025

L6, L7, L8, L9, L10. The generator bus G1 is considered as slack bus, and the load buses L2, L7 and L8 are voltage controlled buses. The
generator at bus G3 cannot supply the required reactive power demand, and hence it is operating at its maximum reactive power limit. The
number of non-linear equations required for solving the load flow problem using Newton-Raphson method in polar form is

Al 46

A2 g

63 22 — (Correct Alternative)

At 4

Objective Question

68 68 A 3-phase bank of three single-phase transformer are fed from 3-phase 33 kV (line-to-line). It supplies a rated load of 6000 kVA at 11 kv 1.0 0.25

(line-to-line). Both supply and load are 3-wire. Calculate the voltage and kVA rating of the single-phase transformer for Star(Y)-Star(Y)
connection.

_Al 19.05 kV / 6.35 kV, 2000 kVA — (Correct Alternative)

A2 331V / 11 KV, 2000 KVA




A3 19.05KkV /635 kV, 6000 KVA

A% 331V / 11 KV, 6000 kKVA

Objective Question

69 69 Two similar 250 kVA single phase transformers gave the following results when tested by back to back method: 1.0 10.25
Mains wattmeter, W1 =5 kW
Primary series circuit wattmeter, W2 = 7.5 kW (at full load current)
Find out the individual transformer efficiency at 75% full load and 0.8 power factor leading.

Al 94 07%

A2 95.04%

A3 96.03%

_A4 97.02% — (Correct Alternative)

Objective Question

70|70 A power system has two synchronous generators. The govemor-turbime charactenstics 1.0~ 10235

comresponding to the generators are;
P1=30(30-); P2=100(51.5-)

Where f denotes the system frequency in Hz and Py and P; are respectively, the power outputs (i
MW) of turbines 1 and 2. Assume that the generators and transmission network are lossless.
Find out the percentage load shared by generator 2 if the total load 15 600 MW.

Al 950,

A

2 50%

A3 66.67%

A

4 75% — (Correct Alternative)

Objective Question

7171 Statement 1: String efficiency of an insulator is inversely proportional to the square root of the number of insulator disc units. 1.0 10.25
Statement 2: Capacitance grading is achieved by increasing the capacitances of each unit from the tower end towards the line end.

fM Both Statement 1 and Statement 2 are TRUE

52 Both Statement 1 and Statement 2 are FALSE

f% Statement 1 is TRUE and Statement 2 is FALSE

f&4 Statement 1 is FALSE and Statement 2 is TRUE — (Correct Alternative)

Objective Question

272 A string of three suspension insulators is to be fitted with a grading ring. If the pin to earth capacitances are equal to C, then the value of 1.0 0.25
line to pin capacitance of first and last capacitance(from top) is

Al ¢ =cnandCy=C




_AZ C;=0C/2 and C, =2C - (Correct Alternative)
A3 ¢=candCy=2C

A% =Cl4and Cy=4C

Objective Question

73 73 1.0 0.25
For a generating unit, the fuel input in milions of Btu/hris expressed as a function of output Pz in MW by

0.035 F’G2 +46.5 Pz + 150. The fuel cost is Rs.2 per million Btu. Determine the average cost of fuel per MWhr
when Pz = 200 MW,

Al 54 5 RyMWhr

A2 16,5 Rs/MWhr

_A3 28.5 Rs/MWhr — (Correct Alternative)

A% 305 RsMWhr

Objective Question

7474 In a simple method of checking the magnetization characteristics of a current transformer, 1.0 10.25

An increasing sinusoidal voltage of standard frequency is applied to the secondary winding with the primary short circuited.

A2 An increasing sinusoidal voltage of standard frequency is applied to the secondary winding leaving the primary open
circuited. — (Correct Alternative)

53 A decreasing sinusoidal voltage of standard frequency is applied to the primary winding with the secondary short circuited.

A4 A decreasing sinusoidal voltage of standard frequency is applied to both primary and secondary winding

Objective Question

7575 The time duration for voltage sag as per IEEE standard is .......... 1.0 10.25
Al

0.5 cycle to 1 minute — (Correct Alternative)

62 0.5 cycle to 2 minute

1 cycle to 1 minute

4 1 cycle to 2 minutes

Objective Question

76 76 Which is the largest amount of installed grid interactive renewable power capacity in India? 1.0 10.25

wind power — (Correct Alternative)

solar power




3 ..
7 biomass power

small hydro power

Objective Question

7T The burning of traditional biomass or biomass related materials provides about percentage of the world's energy consumption. 1.0 10.25

Al 300,

A2 950,

A3 59,

.A4 10% — (Correct Alternative)

Objective Question

78 T8 Consider the following statements and choose the correct option. 1.0 10.25

Statement 1: Natural gas and coal are two fuels used for electricity generation and their cross-price elasticity is positive.
Statement 2: If the solar panel industry is competitive, the marginal firm makes zero profits in the long run.

.Al Both Statement 1 and Statement 2 are TRUE — (Correct Alternative)

52 Both Statement 1 and Statement 2 are FALSE

f% Statement 1 is TRUE and Statement 2 is FALSE

fA4 Statement 1 is FALSE and Statement 2 is TRUE

Objective Question

79 An emf source is present in the following sequence network. 1.0 10.25

! positive — (Correct Alternative)

negative

f% Both Positive and Negative

A4 . .
. Positive, negative and zero

Objective Question

80 80 A shunt capacitor at 100 MVATr is operated at 105% of its rated voltage and at 98% of its rated frequency. The reactive power produced by 1.0 0.25

the capacitor is
Al .
. 108.045 MVAr — (Correct Alternative)

A2 112.5 MVAr

A3 102.9 MVAr




A% g8 89 MVAr

Objective Question

81 81 Fig. shows currents in a 3-phase conductor. The ends of the system on the sides of the fault are identified as F, F', while the conductor 1.0 10.25
ends are identified as aa’, bb’ and cc'. For two conductors open fault, the symmetrical components can be represented as
Al
VutV ,+V =0
I,=1,=I,="2
al a2 al 3
A2
ch'l = ch'E = Vna'ﬂ] = E Vrm'
I E I a2 —La0 —
A3
Vm:r'l + chr’l + ch'ﬁ] =
]ﬂl = ]:12 = ]HG = 31&
A4
I/:m'l - Vrm'l = I/:m'lﬁl o g I/:m
_ _ —_ I(I
Ial T Ial‘ T IaD g
2
Objective Question
82 82 Who designed and constructed the first working mechanical calculator? 1.0 10.25
Al . . .
. Wilhelm Schickard — (Correct Alternative)
62 Steve John
53 Adam Pascal
A4 Marie Jacquard
Objective Question
83 |83 The first IBM Personal computer Acron uses operating system. 1.0 10.25
fM UNIX
Az LINUX

_A3 MS-DOS - (Correct Alternative)

A% WINDOWS




Objective Question

84 84 The operating system introduced by Apple provides Protected Memory Architecture benefit. 1.0 10.25
1
Apple OS

A2 108

.A3 Mac OS X — (Correct Alternative)

A% T UNIX

Objective Question

85 |85 If your computer is not directly connected to a network but has a telephone or cable modem,then you can reach the Internet through 1.0 10.25

_A] Internet Access Providers — (Correct Alternative)

52 Network Access Providers

53 Native Access Providers

‘A4 Data Access Providers

Objective Question

86 86 The Computer memory keeps several jobs in memory simultaneously by maintaining them in a . 1O 10.25

Memory area
A2 .
.~ Job pool — (Correct Alternative)
f“ Work spooler

54 Task pool

Objective Question

87 87 In Microsoft word the page break options are available under which ribbon? 1.0 10.25

! Print Layout ribbon -> Line break group
A2 . .
~ " Review ribbon -> Page setup group
3 Print Layout ribbon -> Page setup group — (Correct Alternative)

54 Review ribbon -> Print preview group

Objective Question

88 88 Which type of section break helps you to start a new section on the same page? 1.0 10.25

_Al Continuous — (Correct Alternative)




52 Next page

A3

Even page

64 Odd page

Objective Question

&9

89 A is a list of sources, usually placed at the end of the document, which you consulted or cited in creating the document.

fM Index

{\2 Table of contents

.A3 Bibliography — (Correct Alternative)

A4 Headings

Objective Question

90

90 is the act of secretly or stealthily listening to the private conversation or communications of others without their consent.
Al ppishing
{\2 ARP cache poisoning

.A3 Eavesdropping — (Correct Alternative)

A4 Denial-of-service

Objective Question

91

91 Statement A: A potential drawback to datagram forwarding is the possibility of a routing loop.
Statement B: Routing loop refers to any intentional selection of one route over another, or any elevation of the priority of one class of
traffic.

.Al Statement A is true and Statement B is false — (Correct Alternative)

.Az Statement A is false and Statement B is true

f% Both the statements are true

A4 Both the statements are false

Objective Question

92

2 c
? WYL’ A0esl] YA [Y 210 UL,

Al

WY
A2

Gostd

1.0 0.25
1.0 0.25
1.0 0.25
1.0 0.25




93

94

95

96

96

A3

Gald
Ad

HdIR

Objective Question

93 12 5] 58 (@34 204-213) «i2il?

(1) SUed X yuex
(2) el X d46{lR
(3) (4 X A0
(4) 5812 X 5Ust

Al

(1) $u X yuy
.A2 — (Correct Alternative)
(2) L&t X die{lR
A3
(3) (UM X AR
A4

(4) 512 X $Ust

Objective Question

o4 W YRell 1[RUALINHI SA) A S w (UL «18f]?

Al
Wi 61l
.A2 — (Correct Alternative)
Vvl yevelddl
A3
¥ Ysq
A4

w v HIAMHBLL Sl

Objective Question

93 Al U Wedld) Al Nd) 18 58 sSddHie] Hod) «1efl2

Al

sclefl yoosl disl d aisl

A2
1RS1 WA UL dul o Y
A3
ysl ed « 2d

.A4 — (Correct Alternative)

ALY YL Wl lAlel 6L

Objective Question

21065121 UHISL L&A il SA) 210, A1UH 21c9)?

.Al — (Correct Alternative)

&l
A2

dldet

— (Correct Alternative)

1.0 10.25

1.0 10.25

1.0 10.25

1.0 10.25




97 197

98 98

99 199

100 /100

A3

UeR1dL
A4

g1y H

Objective Question

WIYell UAil: ALl : HIRLgel eldl :
Al

saldld Yoiofl
A2

ARlddUd HIURL

.A3 — (Correct Alternative)

»aARie Ayl
Ad

Usilelg ued

Objective Question

of|detl LRI A A A UL S vilei d ewelidl?
1. s(Ud ¢Qla M dey 1) el
2. WSAR UEHH FHAL YR,

Al

ALSY 1 AR A dlsd 2 Wil

.AZ — (Correct Alternative)

dlsd 1 WG el dlsd 2 ALY
A3

AlSA 1 Wel ALY 2 i YU
A4

Al 1 Wel Al 2 wia Wlei

Objective Question

ol A3/ Astiudal/ Hiol/ w1Ug 2o, vl disdell s2A) @121 1) 82

.A] — (Correct Alternative)

ol Al
A2

Aetiufda
A3

Hled
A4

¥ 1Ug] %182

Objective Question

oi|Astl AL} U R SULUSIRHI U3 B2
1wy qg‘zcu SEAVIS R amt>3»{umeﬂ qé&dl € uelil g,
2. ¥ (Al sl > Hi1ed (Rl s

Al

AL 1 el d1sU 2 SH(BL U1l
A2

ALSA 1 SHIGL W IS 2 1A clSAUsAL

1.0 10.25

1.0 10.25

1.0 0.25

1.0 0.25




A3 — (Correct Alternative)

alsy 1 e11A va d1sy 2 sHBL aLsuYCL
A4

dlSA 1 W LA 2 LA clSU AL

Objective Question
101 /101

AUS5E dISUHT HuA L5 QL LS U1 sUL A=l \sAdi 1 82 1.0 1025
Al

o, del
A2

ER2LET

{&3 — (Correct Alternative)

oS\...qll, ARUIR... AR
Ad

AU




